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n the interval 2 € [~2,2]. 1f you plot the fanction, you wil see that it has
w0 toots on this interval,

(1) Write down a first order fixed point method for finding one of the twa
rots.

(b) Wil this fixed poin method converge for both of the two zoots (Tustify)?
1fit does not converge to the second root, explain how you might modify
your method so that it will converge to the other zoot.

() Wite & prograum to implement yous fxed poiat method for this equation
and apply your code to find ore of the rocts. Use |z, — 21| as your
Stoppia criteron with & tolerance of 10-2

() Numerically confirm that your method does indeed converge lincarly.

(¢) Wite a second program which implements your fixed point method
and makes use of Aitken's A2 Method (Accelerating Convergence - see
Section 2.6 and example 2.14). Use the same tolerance and stopping
eriferion as above.

(f) Numerically confirm that your second method converges faster than 1+
rder.




